Hun GTEE quarebwise, Arcl Asym: Bearm ON, Laser OFF
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Flun G762 quanetwise, ISba2 Acym: Baam ON, Lasear OFF
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Flun G762 euanebwise, DSbg2 Asym: Baam ON, Lasar OFF
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Flun G762 quarnetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun G762 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF

Al

-wiasdse_Baam I LT
Eriiss [ B
Paan 1 ey}

| Eig Darg Do023 |

i mH(L

LR}

Ll |

a3

Flun 762 quanetwise, DSba1 Asym: Baam O, Lasar DFF
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Flun B762 quanetwise. Tap Fnger Atyri: Baarm OM, Lasar OFF
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Acc0 Asym (ppt): 295.26 +/- 522.50
USbg1 Asym (ppt): 21.99 +/- 22.60
USbg2 Asym (ppt): 9.51 +/- 14.98

DSbg1 Asym (ppt): 2.36 +/- 5.75
DSbg2 Asym (ppt): 11.43 +/- 5.38
Top Finger Asym (ppt): -6.88 +/- 23.11
Side Finger Asym (ppt): 8.26 +/- 15.28
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Run 5762, quartetwise: UShg1 vs time
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Run 5762, quartetwise: LUIShg2 vs time
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